DATA SHEET

For 4 pcs. M6 x 30
self-tapping screws.

The same mounting plate
can be used in top and
bottom of column.

Mounting Plates for MAC2 Lifting Columns

Strong Steel mounting plates for easy MAC2 mounting

MP2 Mounting Plates is produced for MAC2 lifting columns. The
mounting plates is designed for easy and simple install of the MAC2
Lifting Columns in your applikation, by using the 6 outer @ 8.5 mm
mounting holes.

MP2 Mounting Plates can be used as both the upper mounting plate
and the bottom mounting plate.

Itis important to use the right screws for the mounting of the MP2
Mounting Plates on the MAC2 Lifting Column: 4 pcs. of M6 x 30
self-tapping screws in the aluminium profiles.

Material specifications:

Material: 5mm galvanized steel
Surface Treatment: Electroplating
Screws: Steel

Option:
Powder-lacquered/coated MP2 Mounting Plates (all RAL colors).

MP2

Technical data:

Mounting plates size: 244mm x 65mm

Top- and bottom mounting plates: Same for both ends

Thickness: bmm

Mounting screw holes: @ 8,5mm

Number of mounting screw holes: 6

Plate mounting on the MAC2: 4 pcs. M6 x 30 self-tapping screws in
the aluminium profiles (in both ends)

MP2 plate mounting screw holes: @ 6,5mm

Number of MP2 plate mounting screw holes: 4

Max. torque for screw mounting in MAC2 profiles: 6.8Nm at M6 x 30

Maximum load: 3500N
Dynamic bending moment: 500Nm
Static bending moment: TOOONmM

The mounting plates should be protected from longer water and
humidity exposure to prevent corrosion.
Operating temperature: +5°C - +45°C (same as MAC2)

Option:
Movetec offers the MAC2 Lifting Columns with pre-mounted MP2
Mounting Plates, directly from the factory in Denmark.

a True innovative Moving Technology



MP2

o
) ‘
—
2440
226,0
196,0
160,5 ﬂ
i 9
\/W\\ “//5\ J\ J» r/; J\\\ "//\‘
T e ) (L ) P )
|~ T Py CY
&/ =/
S o - o= -
HEN® 0 (]
N
//?\\\ i VY
@ | ‘ ‘
- .
1 ~rYCY N = a8
N ‘& \\¥ N \—3&
o \
N %
s ) ° “\f"’e
N N Y % %
x9 Countersink M6 — \¢&
Mounting screws, special parts and more:
Do you need mounting screws, special mounting parts, mounting
plates in special sizes, mounting plates mounted directly from the
factory, information, good hints etc. - then please contact us about
your wishes, we are looking forward to your call: +45 64 89 28 05.
CAD-drawings:
You can download 3D-drawings (STEP-Data) for the MP2 for your
CAD-Program, or as a PDF-file, on our homepage.
Manuals, installation instructions, approvals/certifi-
cates, Safety instructions etc.: Further information © www.movetec.dk
Installation manuals, assembly- and installation instructions, war- - ﬁ TII @ ;3“ ( E
nings, instructional videos and further information, can be found b FOF 4>
on our homepage: www.movetec.dk INSTALL VIDEO PHOTO DATA' BUILD €-MAIL 3D-CAD CE-APP

© Copyright Movetec Solutions ApS. LKD/MP2 /dat002-DE/2/100/0219

MOVE

Tel. +45 64 89 28 0b - www.movetec.dk

True Innovative Moving Technology

MOVETEC Solutions ApS - Lollandsvej 1- DK-5500 Middelfart - Tel. (+45) 64 89 28 05 - Fax (+45) 64 89 28 35 - info@movetec.dk




	MP2___UK0001
	MP2___UK0002

